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Gty 0. 900 x 0. 700+ (0. 300 x 0. 900+ (0. 300+1. 200) /2 x 0. 450) x 2 (md) 1. 845
H=0. 60m
a9 1)—Fk O =1 8N/mm? 0. 300 x 0. 600 x 0. 700+ ( (0. 300+0. 900) /2 x0.300) x0. 700 (m®) 0. 252
Gty 0. 600 x 0. 700+ (0. 300 x 0. 600+ (0. 300+0. 900) /2 x 0. 300) x 2 (md) 1.140
H=0. 30m
a9 1)—Fk O =1 8N/mm? 0. 300 x 0. 300 x 0. 700+ ( (0. 300+0. 600) /2x0.150) x0. 700 (m3) 0.110
Eilp e 0. 300 x 0. 700+ (0. 300 x 0. 300+ (0. 300+0. 600) /2 x 0. 150) x 2 (m2) 0.525




B E # KX I 3 5 £

BEERE | 7 ER 1. BEHKE BEFE ¢150)
(m) (m)
0. 300 20 6.00 FHEKERIER
0. 600 0 0.00 B = 48.30 (m)
0. 900 0 0.00
1.800 0 0.00 FEEERCER
2.100 0 0.00 H = 6.00 (m)
4.500 0 0.00
FHEHRER
0 6.00 L= 48. 30 +
2. 7 4 L3 —#%+ (S-30)
BAEXO150mEFERT 510, EOFMDEEEL
WrEE a= 0.075 X 0.075 X T
EREROIESIMTEREIL0. 250 () THEM D, BEHKENEHR LREOHEEE
b R A= 0. 250 - 0.018 = 0.232 @)
FHEDOERMN 54.30 () THBD T,
{K3& V= 0.232 X 54.30 = 12.60 (m%)
KERSER
u
jal
e

HERHEKiE

WA

= 54.30 (m)

0.018 (m)




A& = B K i =1 £ 2
BEEE (BTLE ¢ 150) (FEBRA M)
HHE
= & B 4 AT TR
(m) (m?) (m)

No. 1+1. 000 2. 850 0
No. 1+10. 000 2.316 2.580 2 5.16
No. 2 2.316 2.320 2 4.64
No.2+10. 000 2.145 2.230 2 4. 46
No.3 2.275 2.210 2 4.42
No.3+10. 000 2. 557 2.420 2 4.84

= 10 23.52




gavyy—rT FH T FE
~

B A¥7Y—F R —54 5T
g (I WEE 0T B KFE & Ty i e ¥ ¥ @EE e ¥ ¥ @EE
(m) (m?) (m?) (m®) (m) (m) (m?) (m) (m) (m3) (m) (m) (m?)
No. 1+2. 35 0.00 0.00 0.00 0.00 0.00
No. 1+10. 000 7.42 18.75 9.38 69. 60 8.87 4. 44 32.94 0.4 0. 21 1.56  8.87 4.44  32.94
No. 2 9.57 14. 26 16. 51 158. 00 6.79 7.83 74.93 0.34 0.38 3.64 6.79 7.83 74.93
No.2+10. 000 9.91 9.73 12.00  118.92 5.01 5.90 58.47  0.18 0.26  2.58  5.01 590 58 47
No.3 10. 00 13.07 11.40 114. 00 7.10 6. 06 60. 60 0.28 0.23 2.30 7.10 6.06 60. 60
No.3+10.000  10.00 7.37 10.22  102.20 3.97 5. 54 55.40  0.35 0.32  3.20 3.97 554 5540
= 7.30 7.30
&5t 46. 900 562. 72 289. 64 13.28 289. 64

[ABREBETITIRFEANSE



(L%t TH

REFIEA D) —b T i TR (RER)

WHE| 28 | EFYAEM 690 | &% |[AnE HIFLE (m) : ¢ 90
1 T KRS m | m | mit | 28 [geas] @® | m | wmit | 18 [2as|HnERE)
BRERTTIXMN
20 0.1 0.1 105 | 075 | 79 | 1580 | 7.90 | 8295 | 59.25 150.10
&t 79 158.0 | 7.90 | 82.95 | 59.25 150.10
b =N =
BHEAL(RSR RHTERE - =
RME | £4%E| GBHE g% m i 1 1.8
(n) (n) (n) : (m2) 2 1.8 No.1+10
3 1.1 0.7
B2
B3 | 10.00| 2.92 | 1.16 | 1/2x( 2.92+ 1.16 x 10.00 20. 40 4 0.3 1.5
B4 10.00| 1.16 3.58 1/2x ( 1.16 + 3.58 x 10.00 23.70 9 1.8
B5 9.91 | 3.58 | 4.78 1/2x( 3.58 + 4.78 x 9.901 4142 6 1.7 0.1|No.2
B 6 9.57 | 4.78 | 5.63 1/2x( 4.78 + 5.63) x 9.57 49 81 7 05 13
B7 7.48 | 5.63 | 0.00 1/2x 563 x 71.48 21.06 5 6 0.2
&t 156.39
9 0.5 1.3|No0.2+10
HBmAIAREL 14K/2m2 10 0.5 1.3|No.3
N= 156.39 / 20 = 782 = 79 11 1.4 0.4
12 0.3 1.5|N0.3+10
13.3 8.3
EHE 1.21 0.69

HEHAIARER, 8E5) A5
HEFEYICLYES




HEI(EIVY)—rIE@ BB I ¥ E T & =
i = = R 9E B BEHEAIEIRS ERES)
W B TR % & W B FHNE W O E K @ THOMNE = H e =
(No.1+1.0) 0.0
No. 1 + 10.000 8770 227 1135 99.5
No. 2 9570 123 1750 167.5
No. 2 + 10.000 9.910 9.1 10.70 106.0
No. 3 10.000 7.6 8.35 83.5
No. 3 + 10.000 10.000 9.8 8.70 87.0
m Zm’
a8 F 48.250 543.5




15 THEHRALE(1/6)

NO.1+10.000

GH=460.365
FH=460.581
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BHEARST

A=9.1m2

A0 2m)
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e
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Bi5THERHLE4/6)

NO. 3
GH=459. 145
FH=459.210
7000 1099
3500 3500
750 2750 2750 750

BHEBEARST

(£80.5m, &1 3m)




RS THERHEG/6)

GH=458. 681
FH=458.730

BHEARST 9.8

A=9.8m2

(£#0.3m, &&E1.5m)




